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Note: All questions are compulsory. Carrying of mobile phone during examinations will be treated as case

of unfair means. Assume suitable data if required

QL. Explain the pumped storage scheme with neat sketch. Also explain the usage of’ revermble turbines in

the scheme. S [3]

Q2. A commeon load is shared by two stations; one being a base load plant w‘ith 42MW installed capacity
and other being a standby station with 22 MW capacity. The yearly output is-
Standby Station— 17 X 10° KWh

Base load plant- 180 X 10° K'Wh
The maximum demand on base Joad station and standby stations are 36 MW and 18 MW. Find out

)

following for both plants
. (a) Load factor ' _ VAR
(b) Capacity factor 12]

Q3. What is the usage of Intake structure in a hydel scheme? Explain Runoff river scheme with their salient

features. ‘ [41

Q4. Explain the following briefly.
(a) Firm power and secondary power [1}
(b) Reaction turbine and Impulse turbine 2]

(¢) principle components of a hydropower scheme ‘ 1]



